
Test 25

6) B

2) 0 3) A 4) C

-(-8) 8
X = 2(1) ="2 =4

V=(4)2_8(4)+1

V=16-32+1=-15

vertex = (4, -15)

5) B1) 0

7) C X---=:!L--6-1- 2(-3) - -6-

V = -3(1)2 + 6(1)

V=-3+6=3

vertex = (1,3)

8) A
-(-4) 4

X= 2(~) =1"=4

V = ~(4)2 -4(4)

V=8-16=-8

vertex = (4,-8)

Area = ~240 22X) =

X(120- X) = _X2 + 120X

X=-120=60
2(-1)

9) 0 240-2XxDx,
240-2X--2-

V (or area) =-(602)+120(60)

= -3600 + 7200 = 3,600 ft2

96 - 2X10)B~ Area = X(96 - 2X)

96X-2X2 =_2X2 +96X

X = 2(=~) = 24X =24'
96 - 2(24) = 48'

11) B 3.r-2J-4H =3'/-9·3-4'/-4·2 =

9iJ3 -8i.J2

12) A 9i.P34 =9i·8i=72(i)lj)=-72

13) A ~. (8 - 5il = (2i)(8) - (2i)(50
8 + 5i (8 - 5i) 64 + 25

16i+ 10
89

14) 0 Using quadratic formula:

-2 ± J22 - 4(2)(-5)
2(2)

-2 + J4+4O -2 + .J4T1
4 = 4

-2± 2Ji1 -H Ji1
4 =-2-

15) B

, I

Test 26

1) 0 A) is obviously a hyperbola

B) X = ~ -? XV = 16 (hyperbola)

C) difference of 2 squares (hyperbola)
0) equation of an ellipse

2) A

3) 0

4) C (-1)(-6)=6

5) C X2_(_1)2 =8

X2_1 =8

X2 =9

X=±3

6) 0 Point (-4, t) is in Quadrant II

Point (4, - ~) is in Quadrant IV

7) B A) ellipse
B) difference of 2 squares form
C) regular hyperbola
0) parabola

8) A A) first and third quadrants
B) difference of 2 squares
C) second and fourth quadrants
0) parabola

9) C A) first and third quadrants
B) difference of 2 squares
C) second and fourth quadrants
0) parabola

10) 0 A) first and third quadrants
B) second and fourth quadrants
C) ellipse
0) difference of 2 squares form

11) C Slope = -2
2(0) + b

12) A (-5+7) -3+(-6) (£ -9)-?(1 -9)
2 ' 2 -? 2' 2 ' 2

0=-

13) B

14) 0 299 - 254 = $45 markup
WP x 299 = 45

WP = iJ'9 ~ .15 = 15%

15) 0 ~_23
23 + 35 - 58 ~ AO = 40%

Test 27

1) C

2) A

3) 0 Change second equation
to Slope-intercept form:
3X + 2V = 12
2V = -3X+ 12

V=23X+6

sketch both equations:

plot points for
first equation:

XV=6
X V
-6 -1
-3 -2
-2 -3
-1 -6
1 6
2 3
3 2
6 1\

substitute - ~ X + 6 in place of V in

second equation, and solve:

(X)( -] X + 6) = 6 -? - ~ [1X2 + 6X - 6 = 01
X2 - 4V + 4 = 0 -? (X - 2)(X - 2) = 0 -? X = 2

substitute 2 in original equation, and solve for y:

3(2) + 2V = 12 -? V = 3
(2,3)
checking:(21(3) = 6
(true)
so solution is (2, 3)

4) B circle and line

5) C X2 + (X _ 3)2 = 9

T X2 +X2 _ 6X + 9 _ 9 = 0

2X2 -6X =0

2X(X-3) = 0 -? X =0, 3
V = (0) -3 V = (3) -3
V=-3 V=O
(0, -3) (3,0)

6) 0 (see illustration for #8)

9) C

10) C

11) A

7) B X2 +(X2 +d =4

X2 +X4 + 4X2 + 4 - 4 = 0

5X2 +X4 = 0

X2(x2 +5) = 0

X2 = 0 X2 =-5

X=O X=~=J5i
V = (0)2 + 2 invalid solution
V= 2 -? (0,2)

8) A Make sketch:

X2_ V2 =16

X2 _(0)2 = 16

X=+4

Work solution:

X2 +V2 = 34
X2 _V2 -16

2X2 = 50

X2 =25

X=±5

x y

±4 a
, ±J20* 2

a ±4

* ~±4.5

(5)2 +V2 =34

25+V2 =34

v2 =9
V =±3(8

176;2X A =X(176
2
2X) =-.'. 88X-X2 =

_X2 +88X

X= -88 = 44
;r(area) 2(-1)

V = -(44)2 + 88(44) = -1936 + 3872 = 1936 ft2

A 0 . AE
12) A BC=E-?AE=BCO-?CO=B

13) C

14) B

15) 0

1,200,000,000 =1.2x109

3,000,000 = 3.0x 106

(1,2 x 3.0)( 109 x 106) = 3.6 x10 15

O=RT
18=(15-3)T

ill= T
12
1,5= T

coJ
~
(j)
Q.
S-
o'
:::Jen
f\)
(Jl

rG
-..j

3x 1.6 = 4,8 km
2x 1,6 = 3,2 km
4.8 x 3,2 = 15.36 km2


